

Cuadernillo de Sumas



Mágicas

para aprender las
tablas de



multiplicar

Tabla del 2

Suma repetida	Expresión corta
$2=2$	2 repetido 1 =
$2 + 2 =$	2 repetido 2 =
$2 + 2 + 2 =$	2 repetido 3 =
$2 + 2 + 2 + 2 =$	2 repetido 4 =
$2 + 2 + 2 + 2 + 2 =$	2 repetido 5 =
$2 + 2 + 2 + 2 + 2 + 2 =$	2 repetido 6 =
$2 + 2 + 2 + 2 + 2 + 2 + 2 =$	2 repetido 7 =
$2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =$	2 repetido 8 =
$2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =$	2 repetido 9 =
$2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 + 2 =$	2 repetido 10 =

Tabla del 3

Suma repetida	Expresión corta
$3 = 3$	3 repetido 1 =
$3 + 3 =$	3 repetido 2 =
$3 + 3 + 3 =$	3 repetido 3 =
$3 + 3 + 3 + 3 =$	3 repetido 4 =
$3 + 3 + 3 + 3 + 3 =$	3 repetido 5 =
$3 + 3 + 3 + 3 + 3 + 3 =$	3 repetido 6 =
$3 + 3 + 3 + 3 + 3 + 3 + 3 =$	3 repetido 7 =
$3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 =$	3 repetido 8 =
$3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 =$	3 repetido 9 =
$3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 + 3 =$	3 repetido 10 =

Tabla del 4

Suma repetida	Expresión corta
$4 = 4$	4 repetido 1 =
$4 + 4 =$	4 repetido 2 =
$4 + 4 + 4 =$	4 repetido 3 =
$4 + 4 + 4 + 4 =$	4 repetido 4 =
$4 + 4 + 4 + 4 + 4 =$	4 repetido 5 =
$4 + 4 + 4 + 4 + 4 + 4 =$	4 repetido 6 =
$4 + 4 + 4 + 4 + 4 + 4 + 4 =$	4 repetido 7 =
$4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 =$	4 repetido 8 =
$4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 =$	4 repetido 9 =
$4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 + 4 =$	4 repetido 10 =

Tabla del 5

Suma repetida	Expresión corta
$5 = 5$	5 repetido 1 =
$5 + 5 =$	5 repetido 2 =
$5 + 5 + 5$	5 repetido 3 =
$5 + 5 + 5 + 5 =$	5 repetido 4 =
$5 + 5 + 5 + 5 + 5 =$	5 repetido 5 =
$5 + 5 + 5 + 5 + 5 + 5 =$	5 repetido 6 =
$5 + 5 + 5 + 5 + 5 + 5 + 5 =$	5 repetido 7 =
$5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 =$	5 repetido 8 =
$5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 =$	5 repetido 9 =
$5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 + 5 =$	5 repetido 10 =

Tabla del 6

Suma repetida	Expresión corta
$6 = 6$	6 repetido 1 =
$6 + 6 =$	6 repetido 2 =
$6 + 6 + 6 =$	6 repetido 3 =
$6 + 6 + 6 + 6 =$	6 repetido 4 =
$6 + 6 + 6 + 6 + 6 =$	6 repetido 5 =
$6 + 6 + 6 + 6 + 6 + 6 =$	6 repetido 6 =
$6 + 6 + 6 + 6 + 6 + 6 + 6 =$	6 repetido 7 =
$6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 =$	6 repetido 8 =
$6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 =$	6 repetido 9 =
$6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 + 6 =$	6 repetido 10 =

Tabla del 7

Suma repetida	Expresión corta
$7 = 7$	7 repetido 1 =
$7 + 7 =$	7 repetido 2 =
$7 + 7 + 7 =$	7 repetido 3 =
$7 + 7 + 7 + 7 =$	7 repetido 4 =
$7 + 7 + 7 + 7 + 7 =$	7 repetido 5 =
$7 + 7 + 7 + 7 + 7 + 7 =$	7 repetido 6 =
$7 + 7 + 7 + 7 + 7 + 7 + 7 =$	7 repetido 7 =
$7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 =$	7 repetido 8 =
$7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 =$	7 repetido 9 =
$7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 + 7 =$	7 repetido 10 =

Tabla del 8

Suma repetida	Expresión corta
$8 = 8$	8 repetido 1 =
$8 + 8 =$	8 repetido 2 =
$8 + 8 + 8 =$	8 repetido 3 =
$8 + 8 + 8 + 8 =$	8 repetido 4 =
$8 + 8 + 8 + 8 + 8 =$	8 repetido 5 =
$8 + 8 + 8 + 8 + 8 + 8 =$	8 repetido 6 =
$8 + 8 + 8 + 8 + 8 + 8 + 8 =$	8 repetido 7 =
$8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 =$	8 repetido 8 =
$8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 =$	8 repetido 9 =
$8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 + 8 =$	8 repetido 10 =

Tabla del 9

Suma repetida	Expresión corta
$9 = 9$	9 repetido 1 =
$9 + 9 =$	9 repetido 2 =
$9 + 9 + 9 =$	9 repetido 3 =
$9 + 9 + 9 + 9 =$	9 repetido 4 =
$9 + 9 + 9 + 9 + 9 =$	9 repetido 5 =
$9 + 9 + 9 + 9 + 9 + 9 =$	9 repetido 6 =
$9 + 9 + 9 + 9 + 9 + 9 + 9 =$	9 repetido 7 =
$9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 =$	9 repetido 8 =
$9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 =$	9 repetido 9 =
$9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 + 9 =$	9 repetido 10 =

Tabla del 10

Suma repetida	Expresión corta
$10 = 10$	10 repetido 1 =
$10 + 10 =$	10 repetido 2 =
$10 + 10 + 10 =$	10 repetido 3 =
$10 + 10 + 10 + 10 =$	10 repetido 4 =
$10 + 10 + 10 + 10 + 10 =$	10 repetido 5 =
$10 + 10 + 10 + 10 + 10 + 10 =$	10 repetido 6 =
$10 + 10 + 10 + 10 + 10 + 10 + 10 =$	10 repetido 7 =
$10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 =$	10 repetido 8 =
$10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 =$	10 repetido 9 =
$10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 + 10 =$	10 repetido 10 =

Contesta las siguientes tablas

$2 \times 1 =$	
$2 \times 2 =$	
$2 \times 3 =$	
$2 \times 4 =$	
$2 \times 5 =$	
$2 \times 6 =$	
$2 \times 7 =$	
$2 \times 8 =$	
$2 \times 9 =$	
$2 \times 10 =$	

$3 \times 1 =$	
$3 \times 2 =$	
$3 \times 3 =$	
$3 \times 4 =$	
$3 \times 5 =$	
$3 \times 6 =$	
$3 \times 7 =$	
$3 \times 8 =$	
$3 \times 9 =$	
$3 \times 10 =$	

$4 \times 1 =$	
$4 \times 2 =$	
$4 \times 3 =$	
$4 \times 4 =$	
$4 \times 5 =$	
$4 \times 6 =$	
$4 \times 7 =$	
$4 \times 8 =$	
$4 \times 9 =$	
$4 \times 10 =$	